This report contains the transfers results.

Contest Name

Ward 8 - Lochar

Valid Votes
4,994

Positions to be Filled
Quota

999

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John CHARTERIS	Scottish Conservative and Unionist	1,208
Yen HONGMEI JIN	Independent	606
Ivor HYSLOP	Scottish Conservative and Unionist	843
Maureen JOHNSTONE	Independent	299
Jeff LEAVER	Scottish Labour Party	685
Tracey LITTLE	Scottish National Party (SNP)	659
Joe MCGURK	Scottish National Party (SNP)	416
Arthur David RAMSAY	Scottish Green Party	120
Keith WALTERS	Scottish Labour Party	158
	Total	4,994

Candidate John CHARTERIS Elected with 1,208 votes, being in excess of the quota of 999

This report contains the transfers results.

Stage 2 - Surplus of John CHARTERIS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	85	0.17301	14.70585
Transfer to Ivor HYSLOP	911	0.17301	157.61211
Transfer to Maureen JOHNSTONE	69	0.17301	11.93769
Transfer to Jeff LEAVER	19	0.17301	3.28719
Transfer to Tracey LITTLE	12	0.17301	2.07612
Transfer to Joe MCGURK	7	0.17301	1.21107
Transfer to Arthur David RAMSAY	8	0.17301	1.38408
Transfer to Keith WALTERS	4	0.17301	0.69204
Value of non-transferable ballot papers			16.09385
	Total		209.00000

This report contains the transfers results.

Stage 3 - Surplus of Ivor HYSLOP

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	177	0.00027	0.04779
Transfer to Yen HONGMEI JIN	136	0.00161	0.21896
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Maureen JOHNSTONE	162	0.00027	0.04374
Transfer to Maureen JOHNSTONE	139	0.00161	0.22379
Transfer to Jeff LEAVER	66	0.00027	0.01782
Transfer to Jeff LEAVER	123	0.00161	0.19803
Transfer to Tracey LITTLE	14	0.00027	0.00378
Transfer to Tracey LITTLE	9	0.00161	0.01449
Transfer to Joe MCGURK	3	0.00027	0.00081
Transfer to Joe MCGURK	14	0.00161	0.02254
Transfer to Arthur David RAMSAY	27	0.00027	0.00729
Transfer to Arthur David RAMSAY	21	0.00161	0.03381
Transfer to Keith WALTERS	14	0.00027	0.00378
Transfer to Keith WALTERS	30	0.00161	0.04830
Value of non-transferable ballot papers			0.72718
	Total		1.61211

This report contains the transfers results.

Stage 4 - Exclusion of Arthur David RAMSAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	2	0.00027	0.00054
Transfer to Yen HONGMEI JIN	2	0.00161	0.00322
Transfer to Yen HONGMEI JIN	1	0.17301	0.17301
Transfer to Yen HONGMEI JIN	16	1.00000	16.00000
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Maureen JOHNSTONE	4	0.00027	0.00108
Transfer to Maureen JOHNSTONE	2	0.00161	0.00322
Transfer to Maureen JOHNSTONE	3	0.17301	0.51903
Transfer to Maureen JOHNSTONE	11	1.00000	11.00000
Transfer to Jeff LEAVER	2	0.00027	0.00054
Transfer to Jeff LEAVER	3	0.00161	0.00483
Transfer to Jeff LEAVER	1	0.17301	0.17301
Transfer to Jeff LEAVER	13	1.00000	13.00000
Transfer to Tracey LITTLE	1	0.00161	0.00161
Transfer to Tracey LITTLE	24	1.00000	24.00000
Transfer to Joe MCGURK	2	0.17301	0.34602
Transfer to Joe MCGURK	23	1.00000	23.00000
Transfer to Keith WALTERS	2	0.00027	0.00054
Transfer to Keith WALTERS	3	0.00161	0.00483
Transfer to Keith WALTERS	1	0.17301	0.17301
Transfer to Keith WALTERS	17	1.00000	17.00000
Value of non-transferable ballot papers			16.02069
	Total		101 10510

Total 121.42518

This report contains the transfers results.

Stage 5 - Exclusion of Keith WALTERS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	15	1.00000	15.00000
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Maureen JOHNSTONE	2	0.00161	0.00322
Transfer to Maureen JOHNSTONE	4	1.00000	4.00000
Transfer to Jeff LEAVER	13	0.00027	0.00351
Transfer to Jeff LEAVER	22	0.00161	0.03542
Transfer to Jeff LEAVER	3	0.17301	0.51903
Transfer to Jeff LEAVER	131	1.00000	131.00000
Transfer to Tracey LITTLE	1	0.00161	0.00161
Transfer to Tracey LITTLE	4	1.00000	4.00000
Transfer to Joe MCGURK	7	1.00000	7.00000
Transfer to Arthur David RAMSAY	0	0.00000	0.00000
Value of non-transferable ballot papers			14.35971
	Total		175.92250

This report contains the transfers results.

Stage 6 - Exclusion of Maureen JOHNSTONE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	59	0.00027	0.01593
Transfer to Yen HONGMEI JIN	46	0.00161	0.07406
Transfer to Yen HONGMEI JIN	23	0.17301	3.97923
Transfer to Yen HONGMEI JIN	121	1.00000	121.00000
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Jeff LEAVER	14	0.00027	0.00378
Transfer to Jeff LEAVER	15	0.00161	0.02415
Transfer to Jeff LEAVER	4	0.17301	0.69204
Transfer to Jeff LEAVER	42	1.00000	42.00000
Transfer to Tracey LITTLE	4	0.00161	0.00644
Transfer to Tracey LITTLE	2	0.17301	0.34602
Transfer to Tracey LITTLE	21	1.00000	21.00000
Transfer to Joe MCGURK	1	0.17301	0.17301
Transfer to Joe MCGURK	12	1.00000	12.00000
Transfer to Arthur David RAMSAY	0	0.00000	0.00000
Transfer to Keith WALTERS	0	0.00000	0.00000
Value of non-transferable ballot papers			125.41711
	Total		326.73177

This report contains the transfers results.

Stage 7 - Exclusion of Joe MCGURK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	9	1.00000	9.00000
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Maureen JOHNSTONE	0	0.00000	0.00000
Transfer to Jeff LEAVER	1	0.00161	0.00161
Transfer to Jeff LEAVER	2	0.17301	0.34602
Transfer to Jeff LEAVER	23	1.00000	23.00000
Transfer to Tracey LITTLE	2	0.00027	0.00054
Transfer to Tracey LITTLE	8	0.00161	0.01288
Transfer to Tracey LITTLE	3	0.17301	0.51903
Transfer to Tracey LITTLE	389	1.00000	389.00000
Transfer to Arthur David RAMSAY	0	0.00000	0.00000
Transfer to Keith WALTERS	0	0.00000	0.00000
Value of non-transferable ballot papers			37.87337
	Total		459.75345

This report contains the transfers results.

Stage 8 - Surplus of Tracey LITTLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Yen HONGMEI JIN	2	0.00002	0.00004
Transfer to Yen HONGMEI JIN	3	0.00014	0.00042
Transfer to Yen HONGMEI JIN	3	0.01588	0.04764
Transfer to Yen HONGMEI JIN	265	0.09180	24.32700
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Maureen JOHNSTONE	0	0.00000	0.00000
Transfer to Jeff LEAVER	3	0.00014	0.00042
Transfer to Jeff LEAVER	2	0.01588	0.03176
Transfer to Jeff LEAVER	190	0.09180	17.44200
Transfer to Tracey LITTLE	0	0.00000	0.00000
Transfer to Joe MCGURK	0	0.00000	0.00000
Transfer to Arthur David RAMSAY	0	0.00000	0.00000
Transfer to Keith WALTERS	0	0.00000	0.00000
Value of non-transferable ballot papers			59.13324
	Total		100.98252

This report contains the transfers results.

Stage 9 - Exclusion of Yen HONGMEI JIN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CHARTERIS	0	0.00000	0.00000
Transfer to Ivor HYSLOP	0	0.00000	0.00000
Transfer to Maureen JOHNSTONE	0	0.00000	0.00000
Transfer to Jeff LEAVER	1	0.00002	0.00002
Transfer to Jeff LEAVER	2	0.00014	0.00028
Transfer to Jeff LEAVER	56	0.00027	0.01512
Transfer to Jeff LEAVER	40	0.00161	0.06440
Transfer to Jeff LEAVER	1	0.01588	0.01588
Transfer to Jeff LEAVER	116	0.09180	10.64880
Transfer to Jeff LEAVER	18	0.17301	3.11418
Transfer to Jeff LEAVER	223	1.00000	223.00000
Transfer to Tracey LITTLE	0	0.00000	0.00000
Transfer to Joe MCGURK	0	0.00000	0.00000
Transfer to Arthur David RAMSAY	0	0.00000	0.00000
Transfer to Keith WALTERS	0	0.00000	0.00000
Value of non-transferable ballot papers			573.73501
	Total		810.59369